Wuthering Heights Stage 5

Answer Key

A) TRUE OR FALSE

Heathcliff came back to Wuthering Heights as a poor man without a penny in his pocket. T
Catherine was not glad to see Heathcliff when he suddenly paid her a visit.
Heathcliff married Isabella to get revenge on Catherine and Linton.
Catherine died from flue with an unborn child.

Edgar Linton died soon after his wife’s death.

Heathcliff loved her son Linton dearly.

Cathy loved her cousin Linton despite his bad nature and behaviour.

Cathy lived in Thrusgcross Grange after Linton’s death.
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Hareton killed Heathcliff in order to get back his property.
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10. Cathy married Hareton on her own accord.

B) CHOOSE THE CORRECT ANSWER
1. Who is the narrator in this story?

@ Mr Lockwood
B) Heathcliff

C) Mrs Dean

D) Joseph

2. Who brought Heathcliff to Wuthering Heights?
A) Mrs Dean

Mr Earnshaw
C) Joseph
D) Mrs Earnshaw’s wife

3. Why did Heathcliff escape from Wuthering Heights?

@ His love for Catherine was not returned.
B) He worked on the farm hard day and night.
C) Mr Earnshaw’s death affected him very much.

D) He wanted to work in Gimmerton.

4. Whom did Catherine Earnshaw marry?

A) Hindley B) Heathcliff
@ Edgar Linton D) Hareton
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5. What did Heathcliff do after Catherine’s death?

A) He went to Gimmerton and never returned.
He lived in Wuthering Heights with his son Linton.
C) He committed suicide.

D) He made peace with Edgar Linton.
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Why Heathcliff did not like his son when he saw him for the first time?

A) He was ugly. B) He was stupid.
@ He was very sick and weak. D) He was rude.

7. Where did Edgar Linton forbid his daughter to go?

A) to the moors to Wuthering Heights
C) to Gimmerton D) to the hills

8. What did Mr Lockwood see when he stayed in Wuthering Heights at night?

A) a ghost @ a nightmare
C) a stranger D) a thief

9. What is the relationship between Cathy and Hareton?

A) brother and sister B) friends
@ cousins D) strangers

10. Where did Heathcliff die?
@ in his bed B) in the moors

C) in the war D) in Gimmerton

C) ANSWER THE QUESTIONS

1. Why Mr Earnshaw brought Heathcliff to Wuthering Heights?

Because he pitied him when he found him in the street hungry and homeless. He asked for his
relatives but couldn’t find anybody so he decided to bring him his house.

2. How did Heathcliff look like?
He was black haired and black skinned little boy in poor clothes.

3. Who was Heathcliff ’s friend in Wuthering Heights?

Catherine was his only friend.

4, How Hindley treated Heathcliff after his father’s death?
He treated him very cruelly.

5. Why did Catherine refuse to marry Heathcliff?
Because he was very poor. She thought it would degrade her to marry Heathcliff.
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6. On what purpose Heathcliff came back to Wuthering Heights after his escape?

He came back to get his revenge.

7. Who fell in love with Heathcliff after his return to Wuthering Heights?

Isabella Linton fell in love with him.

8. What was the cause of Catherine’s death?
Desperate love of Heatchcliff was the cause of her death.

9. Why Isabella ran away from Wuthering Heights?
Because her husband never loved her and treated her very cruelly.

10. How Cathy got acquainted with her cousin Linton?

When she first saw him, he was asleep in the carriage, wrapped in a warm, thick blanket. He was a
pale, thin boy. Then Linton lay on a sofa in the parlour. Cathy carried him a cup of tea and a cake.
She sat next to him and treated him like a baby.

1. Why Mr Linton forbade her daughter to visit her cousin in Wuthering Heights?
Because he hated Heathcliff and he wanted her to be away from Heathcliff and his family.

12, In what ways Cathy did not follow her father’s orders?

She went on visiting Linton.

13. How Heathcliff forced Cathy to marry his son?
She locked her up in Wuthering Heights and didn’t let her leave the house until she married his son.

14, How Heathcliff treated his daughter-in-law?
He treated her very cruelly.

15. Who was the only person who nursed Linton before his death?

Cathy was the only person who nursed Linton before his death.

16. What was Heathcliff ’s reaction to his son’s death?
He was indifferent to his death.

17. How did Cathy and Hareton become friends?
One day Cathy realized that she was rude to Hareton, asked his pardon and they became friends.

18. Why did Heathcliff refuse all food and water?

Because he wanted to die and be with Catherine in the other world.

19. Who found Heathcliff dead in his bed?
Mrs Dean found him dead in his bed.

20. What happened at the end of the story?
At the end of the story, after Heathcliff’s death Cathy and Hareton got married and lived happily.
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